Multiply by 10° (G)

Find each product.

54 x 103 = 15 x 103 =
52 X 103 = 5% 103 =
30 x 103 = 20 X 103 =
33 x 103 = 51 x 103 =
64 x 10° = 20 X 103 =
52 X 103 = 64 x 103 =
40 X 103 = 7 % 103 =
33 x 10% = 47 x 10° =
41 x10° = 68 X 103 =
72 x 103 = 96 X 10° =
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Multiply by 10° (G) Answers

54 x 10° = 54,000

52 x 10° =52,000

30 x 10° = 30,000

33 x 10° =33,000

64 x 10° = 64,000

52 x 10° =52,000

40 x 10% = 40,000

33 x 10° =33,000

41 x 10° = 41,000

72 x 10% = 72,000

Find each product.

15 x 10° = 15,000

5x 10%=5,000

20 x 10°* = 20,000

51 x 10°=51,000

20 x 10°* =20,000

64 x 10° = 64,000

7 x 10% = 7,000

47 x 10° = 47,000

68 x 10° = 68,000

96 x 10° = 96,000
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